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GENERAL STUDIES (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
ALL questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided. No marks will be given for answers written in a medium other than the authorized
one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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. ‘vauifre Afawar fi S wfam d @ Pfea @ o oF oo wowl W snaiia R ‘Hawte
Aferar’ & Ragia i wrfies =nfes fofat i wrma @ fe=m fifsg)
(3 150 w=at T i)

‘Constitutional Morality’ is rooted in the Constitution itself and is founded on its
essential facets. Explain the doctrine of ‘Constitutional Morality’ with the help of
relevant judicial decisions.

(Answer in 150 words)

. fafaea, wmar ot wamfiar ghfea +@ % o =@ =mmfas 3 afeenst & vfafifia i sgn
H aSgar | == Hif)
(3| 150 w=at ¥ difsm)

Discuss the desirability of greater representation to women in the higher judiciary to
ensure diversity, equity and inclusiveness.
(Answer in 150 words)
T ¥ 143 R s ) S 3 To A o e R gare § R wem R 37
(3| 150 w=a) 7 ifem)
How have the recommendations of the 14th Finance Commission of India enabled

the States to improve their fiscal position?
(Answer in 150 words)
el gt &, wra # wEfwfere A sETEcd H Pt w0 § wae w9 and 27
(3| 150 w=a1 | Fifs)
To what extent, in your view, the Parliament is able to ensure accountability of the

executive in India?
(Answer in 150 words)

. “‘va § g Afd ST § gaE g geEge i fv 17 aneme B seem ba, et
fert § foFa TR AeE FQ R
(W 150 wi==1 § difvm)

“Pressure groups play a vital role in influencing public policy making in India.”
Explain how the business associations contribute to public policies.
(Answer in 150 words)

“o# FAUER T i Afew aFEEa ¥ swmEn, nuts wren g fowm fi
Iavas g4 vd o1 fawerwo i)
(3| 150 w=at & Fifw)

“Besides being a moral imperative of a Welfare State, primary health structure is a
necessary precondition for sustainable development.” Analyze.
(Answer in 150 words)
ety fien i Frea sfem | wdE TR F o ded ge s (3F wra g @) #i
FISHT 1 GIH B Y Tavahar 21’ Rogoft Fifm)
(I 150 vr=a1 # 4if)

“‘Earn while you learn’ scheme needs to be strengthened to make vocational
education and skill training meaningful.” Comment.
(Answer in 150 words)
. N Al SEEEal, T IR FUNU % gk bl Aieansdl & @d HeEdl Wl H gEn faw
(ATEHIERA) TIH L drel ST el &7 HIRTE T98 i)
(3| 150 w=at ¥ difs)

Can the vicious cycle of gender inequality, poverty and malnutrition be broken
through microfinancing of women SHGs? Explain with examples.
(Answer in 150 words)
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14.

“If farma o <we R F fawm A FEEA F R, A Wadl $ 6 THHE F QA THd 81 5@
FUF & el U, Tel & au1 3§ fH § qRA & I9E H1 RWeur FHife|
(3| 150 w=at & i)

“If the last few decades were of Asia’s growth story, the next few are expected to
be of Africa’s.” In the light of this statement, examine India’s influence in Africa in
recent years.

(Answer in 150 words)

ek TS IR, H 6 9 F T T AR F @R F A @ R S AacwleH difaad g9 6l
o 8 el srftes Al #1 fae i)
(3| 150 =zt & i)

“The USA is facing an existential threat in the form of a China, that is much more
challenging than the erstwhile Soviet Union.” Explain.
(Answer in 150 words)

T Tog-fadiy F o1t Wy gEA R QR A qn SiE A F FAd T=wn = (Ho o 3mR0)
¥ SR W S TST W 331 W@ B weifh, dio o amgo S F fog vt grn f € wewla |
U @A it 7ifth sreifess 761 71 R & o i & foaww wed A faa=mn hifsg)
(3| 250 w=at § difs)
The jurisdiction of the Central Bureau of Investigation (CBI) regarding lodging an
FIR and conducting probe within a particular State is being questioned by various
States. However, the power of the States to withhold consent to the CBI is not
absolute. Explain with special reference to the federal character of India.
(Answer in 250 words)

Fafy AFEEHR @ A WRd § AFa AR & W § wTH g8 9% arer e @, fRosf 3
Areaa 3R gsrEieEl & favg AR Sam § Ewd ® §1 T ST 3R AEEiie g
1 TIvae FRd ¢ IR 39E1 & G g

(3| 250 w=at & difsw)

Though the Human Rights Commissions have contributed immensely to the
protection of human rights in India, yet they have failed to assert themselves
against the mighty and powerful. Analyzing their structural and practical
limitations, suggest remedial measures.

(Answer in 250 words)

g T IR o wia % dfiur #, wwa % sfvEr fi anen 6 e a1 e

e
(IW 250 w=at & )
Analyze the distinguishing features of the notion of Right to Equality in the
Constitutions of the USA and India.
(Answer in 250 words)

I Ayl gEuFEl B gy few safa fum-uhed wofa @dt #) Swgw el & |y
faam-ufiegt & @ i adam feufa &1 gears A
(W 250 W=t | i)

Explain the constitutional provisions under which Legislative Councils are
established. Review the working and current status of Legislative Councils with
suitable illustrations.

(Answer in 250 words)
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15. @1 fawm & dafva sude wemd wfifeat yemem oo At Inferdt @ § i duda fae
% forq wrTH-veei o Ifa et §7 Iugen Sareelt & ey Y wivfoet % wwt @ gea iR
(FW 250 w=a1 & difsm)
Do Department-related Parliamentary Standing Committees keep the
administration on its toes and inspire reverence for parliamentary control?
Evaluate the working of such committees with suitable examples.
(Answer in 250 words) 15

16. F uofiv &= § fovw w9 ¥, Refea frewar 3 g9 @@ @=r drifeh (3mgo e @o) H
Heq-Iqreddl & Wy T amfims-anfie foem # anan scm e 27 hifuer afka wlem Aifv)
(FW 250 w=a1 & Hifs)
Has digital illiteracy, particularly in rural areas, coupled with lack of Information
and Communication Technology (ICT) accessibility hindered socio-economic
development? Examine with justification.
(Answer in 250 words) 15

17. “7afl @A wRa § wfeensd 3 faftm &9t § sopea aifta A R, 9% g wfeansd ok
e e & wfa wmhs gfve figemers @ 1 afeen fen ofk wfen werbeor 6
Freret % AfaRes -8 TEaay 38 giEw % oRadd § geE @ gad 87

(IW 250 w31 & difv)

“Though women in post-Independent India have excelled in various fields, the social
attitude towards women and feminist movement has been patriarchal.” Apart from
women education and women empowerment schemes, what interventions can help
change this milieu?

(Answer in 250 words) 15

18. 1 AMNE TUW 3R M-TFH Wied, 3 A0E 6 a9 T8H FH & ¢ < Qa1 Fe@h =
Jehfeve FfawH TRqa R Tha 87 TH Shfoqss Sfawe it it i fadn hifvig)
(IW 250 w=at ¥ difsm)

Can .Civil Society and Non-Governmental Organizations present an alternative
model of public service delivery to benefit the common citizen? Discuss the
challenges of this alternative model.

(Answer in 250 words) 15

19. THo Hlo 3o & &l 3 Iewdl =i favewumers qliemr HfvT| wrd * T sue =1 7ew 27
(3| 250 =2t & i)

Critically examine the aims and objectives of SCO. What importance does it hold
for India?
(Answer in 250 words) 15

20. WRA-WG HEETR & § 7 Fi Agerhignil &1 gehee 1 18 -7y 9@t AUKUS &1 39
B T IR W & | ST ISR 1 TIH O ST @ R7 99E uRewd #, AUKUS H wifte iR g

i T fifsm)
(3| 250 =31 & ifs)

The newly tri-nation partnership AUKUS is aimed at countering China’s ambitions
in the Indo-Pacific region. Is it going to supersede the existing partnerships in the
region? Discuss the strength and impact of AUKUS in the present scenario.

(Answer in 250 words) 15

* ok Kk
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